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(S=((5.6/2x1.8+((12.4-5.6/2)/2 X (1.8+1.4)/2) X 2)=20.96[m?2])

2% 910[kgl X 9.80665[m/s?]
£70.10263[kg/m3] X 9.80665[m/s2] X 20.96[m2] X (263 X 1000/3600[m/s])2

STl Crstan=1.054

CL= THY. L=W=mg 2D T,

C =0.1585
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2X532
D70.10263 X 9.80665 X 20.96 X (263 X 1000/3600)2

C =0.0094503

Cpp=CHS+Stv+ Sth+Se+Sstrut X 2+ Stire X 3)/S=0.008188

192.42
A=50.96

=17.336

CLW2

:T:t(].-4-6)J: ) N Cp= CDp mint k * CL2+ T A ey

CDp min;gf CDp k LT\ CL:CLW &%i\

0.15852

0.00945=0.008188+ « X0'15852+3,14><7,336><0.9 L/

k =0.00200
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(Flpﬁ 3)% .
Cr=0.1277

0.12772

Cp=0.008188+0.00243X0.12772+ 314X7.336%0.9 =0.009007

1
D:§ p V2-S-Cp=0.5X0.10263 X 9.80665 X ((263+30) X 1000/3600)2 X 20.96 X 0.009007

D=629.313[N]
FIEEIZ, 80km/h JE 5 L7- & &%, Cr=0.2020 T, D=452.354[N]
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R D7) =571 X sin(3 > 7 f8), #iZ, 780[N]=L - sin(5deg)
L=8949.5[N]

CL=0.1585 X 8949.5/(910 % 9.80665) = 0.1590

0.15902
3.14X7.336X0.9

Cp=0.008177-+0.00243X0.15902+ =0.009458 (X 1-4-6)

D=532.429[N]
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[32] Cmc= - 0.0575

[iE] Cmc= - 0.0595
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FH1EM 1 XV, &ITHHE CL=0.1585. Cmac= - 0.052
CrLx(a -§) 0.1585%0.5

Cma=Cwmac - - . = 0.052 - 17 =—0.0986

Sh -1
ZIUCEIY B O RROE—A Y ME, Cun=Cuig g ThHMD,

Cin=—0.0986X20.96 X 1.7+ (4.6[m2] X 5.2[m])= —0.1468
SO E i, Cr=1.054. Cmac= - 0.052

1.054x0.5

Cmc= - 0.052 - 17 =—0.3620

Cin=—0.3620%20.96X 1.7+ (4.6[m2] X 5.2[m])= —0.5392
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R D z 4 DZEA(CL D Cu—CL DR T,

FT#ED Cu—CL HfR IO OWTIZER & & 2. FOMX 1T,
(-0.3620—( - 0.0986))/(1.054 - 0.1585)= —0.29414

—J5. NACA0012 X, 0deg—Ci=0, 8deg—Ci1=0.9 THDZ &b,

Sh-l
CMh:CLh% =0(C1=0), 0.6042(C1=0.9)
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CAHDT, ZHITADHG0.67133), 1> T, TITHITLE, BHHONZESFLNE 3SmBEHICHIHIEEIEL. £
D Cme - Cr iR oE = 1%
(1.8080—0.2277)/(1.054 - 0.1585)=1.7647 T, Cmc - CLHIFRDOEE NIEL 2V, JBE LT 5 & RLEL
725,
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